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Study on M ining Per iodicity and A ssociation Rules
Fran Temporal Database
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Abstract The method for mining the periodicity and assciation rules from temporal
database is presented To discover periodicity, a smple, efficient and anti-janming
algorithm wasproposed A method for discretization in the processing of mining association
rules and Apriori algorithm to discover efficient ruleswaspresented The resultson a group
of traffic data show ed that the method is useful and efficient
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{x(®}, =12 ,n ( 1<t<n )
Y()= [x(t- D+ 2x (1) + x (t+ 1) /4
Y(D)=[3x(D+x(2)1/4 Y()=[x(n- 1)+ 3x(n)]/4
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L] y t2 5 tl t2
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If t2> = t1And t2> = t3 Then tendency=" peak”
Else If t2< = t1And t2< = t3 Then tendency=" valley”
Else If t2> t1And t2< t3 Then tendency=" up”
Else If t2< t1And t2> t3 Then tendency=" down”
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Step3 , 2l peak
valley , k k vk
Sk, d Sk av
k © k> 1, 51,52, skl l, 1<j<z,z /k
) k ( ), skt- it j1
k ).k k k : k
, S,, k 0 1 | S«= {0}
k : k, Skmax= Max Sk, Sk,min= Min Sk, Sk a ,
Skd=max Sk- minSx 4 (Sk.max, Skmin, Sk, avy Sk, d) k
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' 1h, 4 k Skmax Skmin Skav Skd
2 7 5 5.982 2
3 12 8 9.018 4
1 k=2 4 14 11 12.019 3
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2.1 2l
1= {i1, iz, ,im} (item set) ,D , T
(T, D X =Y , XCl,
YCI, XnyY=@® 2 s% X Y,
X =Y (support) s X c%
Y, X =>Y (confidence) ¢
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(6% support, 95% confidence)
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